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Differential Calculus

Monotonocity

1. Let S be the set of all functions f : [0, 1] R, which are continuous on [0, 1] and differentiable on (0,1). Then

for every f in S, there exists a c (0, 1), depending on f, such that :

ekuk lHkh Qyuksa f : [0, 1] R, tks fd  [0, 1] ij larr gS rFkk (0,1) ij vodyuh; gSa] dk leqPp; S gSA rks S esa izR;sd f  ds fy, f

ij fuHkZj ,d c (0, 1) dk vfLrRo bl izdkj gS fd :

(1) 
f (1) f (c)

f '(c)
1 c





(2) |f(c) – f(1)| < |f '(c)|

(3*) |f(c) – f(1)| < (1 – c) | f '(c)| (4) |f(c) + f(1) | < (1 + c) | f '(c)|

Question ID : 4050361752

Option 1 ID : 4050366336

Option 2 ID : 4050366333

Option 3 ID : 4050366334

Option 4 ID : 4050366335

Sol. All four options are incorrect if

f(x) is a constant function.

Algebra

Probability

2. Let A and B be two events such that the probability that exactly one of them occurs is 
2

5
 and the probability

that A or B occurs is 
1

2
, then the probability of both of them occur together is :

ekuk A rFkk B nks ?kVuk;sa bl izdkj gSa fd nksuksa esa ls ek=k ,d ds gksus dh izkf;drk 
2

5
 gS rFkk A  ;k B ds gksus dh izkf;drk 

1

2
gS] rks nksuksa ds

,d lkFk gksus dh izkf;drk gS %

(1*) 0.10 (2) 0.01 (3) 0.02 (4) 0.20

Question ID : 4050361762

Option 1 ID : 4050366375

Option 2 ID : 4050366373

Option 3 ID : 4050366374

Option 4 ID : 4050366376
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Sol. P(Exactly one) = 
2

5

A B s

P(A or B) = 
1

2

A B s

P(A  B) =

A B s

P(A  B) = 
1 2 1

0.10
2 5 10
  

Vectors

3D Geometry

3. The mirror image of the point (1, 2, 3) in a plane is 
7 4 1

, ,
3 3 3

 
   

 
. Which of the following points lies on this

plane ?

fcUnq (1, 2, 3) dk ,d lery esa  izfrfcEc 
7 4 1

, ,
3 3 3

 
   

 
 gSA fuEu esa ls dkSulk fcUnq bl lery ij fLFkr gS \

(1) (1, 1, 1) (2*) (1, –1, 1) (3) (–1, –1, 1) (4) (–1, –1, –1)

Question ID : 4050361759

Option 1 ID : 4050366362

Option 2 ID : 4050366363

Option 3 ID : 4050366364

Option 4 ID : 4050366361

Sol.

P

(1,2,3)

Q
-7
3

-4
3

-1
3

10 10 10
PQ i j k

3 3 3

  
  



10
PQ (i j k)

3


  



DR's of normal to the plane = 1, 1, 1
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Mid point of PQ = 
2 1 4

, ,
3 3 3

 
 
 

Equation of plane = 
2 1 1

1 x 1 y 1 z 0
3 3 3

     
             
     

 x + y + z = 1

Now check options.

Integral Calculus

Area Under Curve

4. The area (in sq. units) of the region {(x, y) R2 : x2 y 3 – 2x}, is :

{ks=k {(x, y) R2 : x2 y 3 – 2x} dk {ks=kQy (oxZ bdkbZ;ksa esa) gS :

(1) 
31

3
(2) 

34

3
(3) 

29

3
(4*) 

32

3

Question ID : 4050361755

Option 1 ID : 4050366347

Option 2 ID : 4050366348

Option 3 ID : 4050366346

Option 4 ID : 4050366345

Sol. S = {(x, y) R2 : x2 y 3 – 2x}

x  = y
2

x = -3 x = 1 y = 3-2x

To find points of intersection  x2 = 3 – 2x

x2 + 2x – 3  = 0

x = – 3, 1

Required Area =  
1

2

3

(3 2 x) x dx


 

= 

13
2

3

x
3x x

3


  = 
32

3

Algebra

Binomial theorem

5. If and  be the coefficients of x4 and x2 respectively in the expansion of    
6 6

2 2x x 1 x x 1     ,

then :
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;fn    
6 6

2 2x x 1 x x 1     ds izlkj esa x4 rFkk x2 ds xq.kkad Øe'k% rFkk  gSa] rks %

(1)  (2)  (3)  (4*) 

Question ID : 4050361749

Option 1 ID : 4050366323

Option 2 ID : 4050366321

Option 3 ID : 4050366324

Option 4 ID : 4050366322

Sol.    
6 6

2 2x x 1 x x 1      = 2

6 6 6 4 2 6 2 2 6 2 3
0 4 62 C x C x (x 1) C x (x 1) C (x 1)       

= 6 4 22 32 x 48x 18x 1    

Coefficient of x2() = – 96

Coefficient of x2() = 36  –  = – 132

Integral Calculus

Differential Equation

6. The differential equation of the family of curves, x2 = 4b(y + b), b R, is :

oØksa x2 = 4b(y + b), b R ds dqy dk vody lehdj.k gS :

(1*) x(y')2 = x + 2yy' (2) xy'' = y' (3) x(y')2 = x – 2yy' (4) x(y')2 = 2yy' – x

Question ID : 4050361756

Option 1 ID : 4050366351

Option 2 ID : 4050366349

Option 3 ID : 4050366350

Option 4 ID : 4050366352

Sol. x2 = 4b(y + b), b R

Dwrt x

2x = 4by'

b = '

x

2y

DE  x2 = ' '

x x
4 y

2y 2y

  
  

  

x2 = 

'

' 2

x(2 yy x)

(y )


 xy' = x + 2yy'

Algebra

Matrices

7. If 
2 2

A
9 4

 
  
 

 and 
1 0

I
0 1

 
  
 

, then 10A–1 is equal to :
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;fn 
2 2

A
9 4

 
  
 

 rFkk 
1 0

I
0 1

 
  
 

 gSa, rks 10A–1 cjkcj gS :

(1*) A – 6I (2) 6I – A (3) 4I – A (4) A – 4I

Question ID : 4050361747

Option 1 ID : 4050366316

Option 2 ID : 4050366313

Option 3 ID : 4050366314

Option 4 ID : 4050366315

Sol. A = 
2 2

9 4

 
 
 

 ; 
1 0

I
0 1

 
  
 

tr(A) = 6, |A| = – 10
Characteristic equation of A
A2 – 6A – 10I = 0
A–1A2 – 6A–1A – 10–1I = 0
A – 6I – 10A–1 = 0

10A–1 = A – 6I

Differential Calculus

Function

8. Let f : (1, 3) R be a function defined by 
2

x[x]
f (x)

1 x



, where [x] denotes the greatest integer x. Then the

range of f is :

ekuk f : (1, 3) R ,d Qyu gS] tks 
2

x[x]
f (x)

1 x



, }kjk ifjHkkf"kr gS tgka [x] egÙke iw.kkZad x dks n'kkZrk gSA rks f dk ifjlj gS :

(1) 
3 4

,
5 5

 
 
 

(2*) 
2 3 3 4

, ,
5 5 4 5

   
     

(3) 
2 1 3 4

, ,
5 2 5 5

   
      

(4) 
2 4

,
5 5

 
  

Question ID : 4050361744

Option 1 ID : 4050366301

Option 2 ID : 4050366304

Option 3 ID : 4050366303

Option 4 ID : 4050366302

Sol. 2

x[x]
f (x) ; x (1, 3)

1 x
 



2

2

x
x (1, 2)

1 xf (x)
2x

X [2,3)
1 x


 

 
 

2

2 2

(1 x ) 1 x 2 x
f '(x) [x]

(1 x )

    
  

 
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2 2

(1 x) (1 x)
f '(x) [x]

(1 x )

 




For x (1, 3)
f ' (x) < 0  f (x) 

–

1
f (1 )

2

2
f (2 )

5

4
f (2)

5

3
f (3 )

5

















Range of f (x)

= 
1 3 4

, ,
5 2 5 5

   
      

Integral Calculus

Definite Integration

9.

x

0

x 0

t sin(10t)dt
lim

x

  is equal to :

x

0

x 0

t sin(10t)dt
lim

x

  cjkcj gS :

(1) 
1

5
 (2) 

1

10
 (3) 

1

10
(4*) 0

Question ID : 4050361751

Option 1 ID : 4050366329 Option 2 ID : 4050366331

Option 3 ID : 4050366330 Option 4 ID : 4050366332

Sol.

x

0

x 0

t sin(10 t)dt
0

lim
x 0

 
 
 



Using L' Hospital Rule

x 0
lim


 x sin(10 x) = 0

Algebra

Complex Number

10. Let 
1 i 3

2

 
  . If 

100
2k

k 0

a (1 )


     and 
100

3k

k 0

b


  , then a and b are the roots of the quadratic

equation :

ekuk 
1 i 3

2

 
   gSA  ;fn 

100
2k

k 0

a (1 )


     rFkk 
100

3k

k 0

b


  , rks a rFkk b fuEu esa ls fdl f}?kkr lehdj.k ds ewy gSa \

(1) x2 + 102x + 101 = 0 (2) x2 – 101x + 100 = 0 (3*) x2 – 102x + 101 = 0 (4) x2 + 101x + 100 = 0

Question ID : 4050361745

Option 1 ID : 4050366306

Option 2 ID : 4050366307

Option 3 ID : 4050366308

Option 4 ID : 4050366305
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Sol.
1 i 3

2

 
   

a = (1 + ) (1 + 2 + 4 +.........+ 200)

a = (1 + ) 

2 101

2

(1 ( ) )

(1 )

 



a = 
2021 1

1
1 1

 
 

 

b = 1 + 3 + 6 + .............+ 300 = 101
S = a + b = 102
P = a · b = 101

Equation. x2 – 102x + 101 = 0

Vectors

Vectors

11. Let ˆ ˆ ˆa i 2 j k  


 and ˆ ˆ ˆb i j k  


 be two vectors. If c


 is a vector such that b


 × c


 = b


 × a


 and c
 . a


= 0,

then c
 . b


 is equal to :

ekuk nks lfn'k ˆ ˆ ˆa i 2 j k  


 rFkk ˆ ˆ ˆb i j k  


 gSaA ;fn ,d lfn'k c


 bl izdkj gS fd b


 × c


 = b


 × a


 rFkk c
 . a


= 0 gSa] rks

c
 . b


 cjkcj gS :

(1) 
3

2
 (2) – 1 (3*) 

1

2
 (4) 

1

2

Question ID : 4050361760

Option 1 ID : 4050366368

Option 2 ID : 4050366367

Option 3 ID : 4050366366

Option 4 ID : 4050366365

Sol. a i 2 j k  


b i j k  


b c b a  
  

 and c a
 

 = 0

1Lm

b || c a
  

c a b  
 

c a b  
 

c a a a a b 0      
     

6 + .4 = 0

 = – 
3

2

3
c a b

2
 

 
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3
c b a b b b

2
    
    

 = 
3 1

4 3
2 2

  

Algebra

Sequence & progression

12. If the 10th term of an A.P. is 
1

20
 and its 20th term is 

1

10
, then the sum of its first 200 terms is :

;fn ,d lekUrj Js<+h dk 10oka in 
1

20
 gS rFkk bldk 20oka  in 

1

10
 gS] rks blds izFke 200 inksa dk ;ksx gS %

(1) 
1

50
4

(2) 100 (3) 50 (4*) 
1

100
2

Question ID : 4050361750

Option 1 ID : 4050366326

Option 2 ID : 4050366327

Option 3 ID : 4050366325

Option 4 ID : 4050366328

Sol.

10

20

1
T a 9d

20

1
T a 19d

10


   


  


1
a

200


1
d

200


S
200

 = 
200 1 1

2 199
2 200 200

 
    

S
200

 = 100
1

2

Integral Calculus

Definite Integration

13. If 
2

3 2
1

dx
I ,

2x 9x 12x 4


  
  then :

;fn 
2

3 2
1

dx
I

2x 9x 12x 4


  
  gS]  rc :

(1) 
21 1

I
16 9

  (2) 
21 1

I
8 4
  (3*) 

21 1
I

9 8
  (4) 

21 1
I

6 2
 

Question ID : 4050361754

Option 1 ID : 4050366342

Option 2 ID : 4050366343

Option 3 ID : 4050366341
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Option 4 ID : 4050366344

Sol.

2

3 2
1

dx
I

2x 9x 12x 4


  


Let f (x) = 2x3 – 19x2 + 12x + 4

f ' (x) = 6x2 – 18x + 12

f ' (x) = 6(x – 1) (x + 2)

f ' (x) < 0  in x (1, 2)

f  (x) 

1

f (x)  

1 1
(2 1) I (2 1)

f (1) f (2)
    

1 1
I

3 2 2
 

21 1
I

9 8
 

Coordinate Geometry

Circle

14. It a line, y = mx + c is a tangent to the circle, (x – 3)2 + y2 = 1 and it is perpendicular to a line L
1
, where L

1
 is

the tangent to the circle, x2 + y2 = 1 at the point 
1 1

,
2 2

 
 
 

 ; then :

;fn ,d js[kk y = mx + c, o`Ùk (x – 3)2 + y2 = 1 dh ,d Li'kZ js[kk gS rFkk ;g ,d js[kk L
1
 ij yEc gS] tgka L

1
 o`Ùk x2 + y2 = 1 ds

fcUnq  
1 1

,
2 2

 
 
 

 ij Li'kZ js[kk gS] rks :

(1) c2 + 7c + 6 = 0 (2) c2 – 7c + 6 = 0 (3*) c2 + 6c + 7 = 0 (4) c2 – 6c + 7 = 0

Question ID : 4050361757

Option 1 ID : 4050366354

Option 2 ID : 4050366353

Option 3 ID : 4050366355

Option 4 ID : 4050366356

Sol. Equation L
1
  

1 1
x y 1

2 2
   

x y 2 

1Lm  = – 1

m = 1
C : (x – 3)2 + y2 = 1
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L : y = x + c  x – y + c = 0

Condition of tangency for circle = 
3 0 c

1
2

 


(c + 3)2 = 2

c2 + 6c + 7 = 0

Differential Calculus

Tangent and normal

15. The length of the perpendicular from the origin, on the normal to the curve, x2 + 2xy – 3y2 = 0 at the point

(2, 2) is :

oØ x2 + 2xy – 3y2 = 0 ds fcUnq (2, 2) ij [khaps xps vfHkyEc ij ewy fcUnq ls Mkys x;s yEc dh yEckbZ gS :

(1) 2 (2) 4 2 (3*) 2 2 (4) 2

Question ID : 4050361753

Option 1 ID : 4050366338

Option 2 ID : 4050366340

Option 3 ID : 4050366339

Option 4 ID : 4050366337

Sol. x2 + 2xy – 3y2 = 0

(x – y) (x + 3y) = 0

x – y = 0  &  x + 3y = 0

(2, 2) satisfies x – y = 0

Equation  of  normal x + y = 

at (2, 2)

x + y = 4

Length of perpendicular from

origin = 
0 0 4

2

 
 = 2 2

JEE Main Only topics

Mathematical Reasoning

16. Which of the following statements is a tautology ?

fuEu esa ls dkSulk dFku ,d iqu#fDr  gS \

(1) p  (~q) p q (2) ~(p  ~q) p q (3) ~(p  ~q) p q (4*) ~(p  ~q) p q

Question ID : 4050361763

Option 1 ID : 4050366377

Option 2 ID : 4050366378

Option 3 ID : 4050366379

Option 4 ID : 4050366380
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Sol.

(pv q)
p q q pv q (pv q) p q

p q

T T F T F T T

T F T T F T T

F T F F T T T

F F T T F F T




 


   

Algebra

Quadratic Equation

17. Let S be the set of all real roots of the equation, 3x(3x – 1) + 2 = |3x – 1| + |3x – 2|. Then S :

(1) contains exactly two elements (2) is an empty set

(3) contains at least four elements (4*) is a singleton

ekuk lehdj.k 3x(3x – 1) + 2 = |3x – 1| + |3x – 2| ds lHkh okLrfod ewyksa dk leqPp; S gSA rks S :

(1)  esa ek=k nks vo;o gSaA (2) ,d fjDr leqPp; gSA

(3) esa de ls de pkj vo;o gSaA (4) ,d gh vo;o okyk leqPp; gSA

Question ID : 4050361746

Option 1 ID : 4050366311

Option 2 ID : 4050366309

Option 3 ID : 4050366312

Option 4 ID : 4050366310

Sol. 3x (3x – 1) + 2 = |3x – 1| + 1 |3x – 2|

Let 3x = t > 0

t(t – 1) + 2 = |t – 1| + |t – 2|

t2 – t + 2 = |t – 1| + |y – 2|

Case-1 t[2, )

t2 – t + 2 = t – 1 + t – 2

t2 – 3t + 5 = 0

D < 0

Case-2 t[1, 2)

t2 – t + 2 = t – 1 + 2 – t

t2 – t + 2 =  1– t + 2 – t

t2 + t – 1 = 0

D < 0

Case-3 t(0, 1)

t2 – t + 2 = t – 1 + 2 – t

t2 – t + 2 =  1– t + 2 – t
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t2 + t – 1 = 0

t = 
1 1 4

2

  
  (t > 0)

t = 
1 5

2

 
  E(0, 1)

JEE Main Only topics

Statistics

18. The mean and variance of 20 observations are found to be 10 and 4, respectively. On rechecking, it was found

that an observation 9 was incorrect and the correct observation was 11. Then the correct variance is :

20 izss{k.kksa ds ek/; rFkk izlj.k Øe'k% 10 rFkk 4 ik;s x;sA iqu% tkap djus ij ik;k x;k fd ,d izs{k.k 9 xyr Fkk rFkk lgh izs{k.k 11 FkkA rks

lgh izlj.k gS %

(1) 3.98 (2) 4.01 (3*) 3.99 (4) 4.02

Question ID : 4050361761

Option 1 ID : 4050366369

Option 2 ID : 4050366371

Option 3 ID : 4050366370

Option 4 ID : 4050366372

Sol. x 10  x
i
 = 20 × 10 = 200

2 = 4 
2

2ix
(x) 4

20


 

x
i
2  = 2080

Actual x
i
 = 200 – 9 + 11 = 202

x
i
2 = 2080 – 92 + 112 = 2120

2 = 

2
2120 202

20 20

 
  
 

2 = 3.99
Algebra

Determinant

19. The system of linear equations

jsf[kd lehdj.k fudk;

x + 2y + 2z = 5

2x + 3y + 5z = 8

4x + y + 6z = 10 has :

(1) a unique solution when  (2*) no solution when 

(3) no solution when  (4) infinitely many solutions when 
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(1) dk ek=k ,d gy gS tc  (2) dk dksbZ gy ugha gS tc 

(3) dk dksbZ gy ugha gS tc  (4) ds vuUr gy gSa tc 

Question ID : 4050361748

Option 1 ID : 4050366317

Option 2 ID : 4050366320

Option 3 ID : 4050366318

Option 4 ID : 4050366319

Sol. D = 

2 2

2 3 5

4 6






 = ( + 8) (2 – )

For unique solution   2, – 8
for   2

D
x
 = 

5 2 2

8 3 5

10 2 6

D
x
 = 16   0 (No solution)

Coordinate Geometry

Hyperbola

20. If a hyperbola passes through the point P(10, 16) and it has vertices at ( 6, 0), then the equation of the normal

to it at P is :

;fn ,d vfrijoy; fcUnq P(10, 16) ls gksdj tkrk gS rFkk blds 'kh"kZ ( 6, 0) ij gSa] rks P ij blds vfHkyEc dk lehdj.k gS :

(1) x + 3y = 58 (2) 3x + 4y = 94 (3) x + 2y = 42 (4*) 2x + 5y = 100

Question ID : 4050361758

Option 1 ID : 4050366358

Option 2 ID : 4050366357

Option 3 ID : 4050366359

Option 4 ID : 4050366360

Sol.
2 2

2 2

x y
1

a b
  a = 6

2 2

2

x y
1

36 b
  ; p(10, 16) b2 = 144

2 2x y
1

36 144
 

Equation of normal at (10, 16)  
36.x 144.y

36 144
10 16

  

 2x + 5y = 100

INTEGER TYPE QUESTIONS
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Coordinate Geometry

Parabola

21. Let a line y = mx (m > 0) intersect the parabola, y2 = x at a point P, other than the origin. Let the tangent to it

at P meet the x-axis at the point Q. If area (OPQ) = 4 sq. units, then m is equal to______.

ekuk ,d js[kk y = mx (m > 0), ijoy; y2 = x dks  ewy fcUnq ds vfrfjDr ,d fcUnq P ij dkVrh gSA ekuk P ij bldh Li'kZ js[kk x- v{k

dks fcUnq Q ij feyrh gSA ;fn OPQ dk {ks=kQy 4 oxZ bdkbZ gS] rks m cjkcj gS______A

Ans. 0.5

Question ID : 4050361767

Sol.

2

1 1
p ,

m m

 
 
 

O
(0,0)

Q 0
2

1
,

m

 
 

 

y=mx y =x
2

Equation of tangent at P

T = 0

2

1
x

1 my
m 2

 
 

   
 
 

2

2y 1
x

m m
 

2

1
Q ,0

m

 
 

 

Area OPQ = 4

2

1 1 1
4

2 m m
  

1
m 0.5

2
 

Algebra

Sequence & progression
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22. The sum, 
7

n 1

n(n 1)(2n 1)

4

 
  is equal to________.

;ksxQy 
7

n 1

n(n 1)(2n 1)

4

 
  cjkcj gS________A

Ans. 504

Question ID : 4050361765

Sol.
7

n 1

n(n 1)(2 n 1)

4

 


= 
7

n 1

6 n(n 1)(2 n 1)

4 6

 


= 
7

2

n 1

3
( n )

2 



=  2 2 2 2 2 23
1 (1 2 ) ...... (1 2 ....7 )

2
     

=  2 2 2 2 2 2 23
7 1 6 2 5 3 4 4 3 5 2 6 1 7

2
            

= 504

Trigonometry

Trigonometric Ratio and Identities

23. If 
2 sin 1

71 cos 2




 
 and 

1 cos 2 1

2 10

 
 ,  , 0,

2

 
  

 
, then tan () is equal to_______.

;fn 
2 sin 1

71 cos 2




 
 rFkk 

1 cos 2 1

2 10

 
 ,  , 0,

2

 
  

 
 gSa] rks () cjkcj gS_______A

Ans. 1

Question ID : 4050361768

Sol.
2 sin 1

71 cos 2




 
,   0,

2

 
 
 

2 sin 1

72cos





 tan

1

7

1 cos 2 1

2 10

 


sin  = 
1

10

tan  = 
1

3
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tan ( + ) = 
tan tan 2

1 tan tan 2

  

   

tan2 = 

1
2.

33
1 41
9





tan ( + 2) = 

1 3

7 4
1 3

1
7 4



 

tan( + 2) = 
25

1
25



Differential Calculus

Maxima & Minima

24. Let f(x) be a polynomial of degree 3 such that f(–1) = 10, f(1) = – 6, f(x) has a critical point at x = – 1 and f '(x)

has a critical point at x = 1. Then f(x) has a local minima at x = ________.

ekuk ?kkr 3 dk ,d cgqin f(x) bl izdkj gS fd f(–1) = 10, f(1) = – 6, f(x) dk ,d Økafrd fcUnq x = – 1 gS rFkk f '(x) dk ,d Økafrd

fcUnq x = 1 gSA rks f(x) dk ,d LFkkuh; fuEufu"B gS x = ________A

Ans. 3

Question ID : 4050361766

Sol. f ''(x) (x 1) 

2

1

x
f '(x) x c

2

 
   

 

1

1
f '( 1) 1 c 0

2

 
     

 

1

3
c

2


 

2x 3
f '(x) x

2 2

 
   

 

2 2

2

x x 3
f (x) x c

6 2 2

 
    

 

2

1 1 3
f (1) c 6

6 2 2

 
      

 

2

1 1 3
f ( 1) c 10

6 2 2

 
      

 

f (1) f ( 1) 16   
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1
3 16

3

 
    
 

   = 6

Hence

2x 2x 3
f ' (x)

2

  
 

 

f ' (x) 3(x 3)(x 1)  

+ – +
–1 3

f(x) has local mini at n = 3
Algebra

P &C

25. The number of 4 letter words (with or without meaning) that can be formed from the eleven letters of the word

'EXAMINATION' is_______.

'kCn 'EXAMINATION' ds X;kjg v{kjksa ls cu ldus okys 4 v{kjksa ds 'kCnksa (vFkZ okys rFkk vFkfoghu) dh la[;k gS _______A

Ans. 2454

Question ID : 4050361764

Sol. EXAMINATION

E – 1

X – 1

A – 2

M – 1

I –  2

N – 2

T – 1

O – 1

3
2

3 7
1 2

8
4

Ways toselect Selection Permutation Words

4!
2A 2A C 18

2!2!

4!
2A 2D C C 756

2!

4D C 4! 1680



 

Total = 2454


